R VCE & PDF https://lwww.geekcert.com/4a0-m02.html
' 2024 Latest geekcert 4A0-M02 PDF and VCE dumps Download
: GeekCert.com

AA0-MO29%AS

Alcatel-Lucent Mobile Gateways for the LTE Evolved Packet Core

Pass Alcatel-Lucent 4A0-M02 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.geekcert.com/4a0-m02.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Alcatel-
Lucent Official Exam Center

@ After Purchase

© Guarantee

@ Free Update STISFACTION GUARRHTEEp
@ Satisfied Customers

4A0-M02 VCE Dumps | 4A0-MO02 Practice Test | 4A0-M02 Study Guide 1/4


https://www.geekcert.com/4a0-m02.html
https://www.geekcert.com/4a0-m02.html
https://www.geekcert.com/4a0-m02.html

VCE & PDF https://lwww.geekcert.com/4a0-m02.html
2024 Latest geekcert 4A0-M02 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

How many S11 GTP-C tunnels are established for a UE having:

One default bearer to APN1, and

One dedicated bearer to APN1, and

One default bearer to APN2, and

Two dedicated bearers to APN2?

A

One

Two

Three

Four

E.

Five

Correct Answer: A

QUESTION 2

Based on the information shown in the exhibit, which of the following statements is FALSE?
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<measinfo messlnfold="ECIDBsarerManagementCP-15A">
<granPeriod duration="FT18005" endTime="2011-10-06TL4:30:00-04: 00" >

<measType p="1">V3.mumberlfUsers</neasType>
<measType p="2">V5.numberlfldlel=e ra</measType>
<measType p="3">V3.numberOfictivelserss /measTypes
cmeasType p="4">V5.mmbherlffearerss fmeasTypes
<measType p="5">Vi numbherffhictiveBearerss /measTypes
<measType p="6":¥i.nmumberO0fIdleBearers</Reaslypes
<measType p="7">¥3.numberlfPdnSeszions</neasType-
<measType p="8">¥i.mmberlfledicatedBearers</measTypes
<measType p="9">¥i.mmber0fIpvdPdnSessions< measType>
<mgasType p="10">Vi.numberQf IpvEPdnSessionsd /measTypa>
cmeasType p="11">V5, nunber0f Ipvdvs FdnSessionss fmeasTyper
<measType psTl1Z">VE.nunberifRoaner s /measTypes
<mEasType p="13"3>Vi.numherOfHomers< /meas Types
<measType p="14">V3.rumher0fVisitorsd /measType>
fmeasType p="15">V3.number0fPagingRequescinProgEesss /fmeasTypes

=mea3Value mess0b]Ldn="ECI=EBearsrManagenent, Groupliame=CP- 134, group=1,
slot=5,nda=1"%>

A. The collection interval is set to 30 minutes.

B. The number of active bearers at the end of this interval is 307
C. The stats are collected from MG-ISM card 5.

D. The number of idle users at the end of this interval is 10

E. None of the above statements are false.

Correct Answer: E

QUESTION 3

Which of the following statements is FALSE regarding the S1-based handover?
A. The SGW may be relocated.

B. The MME may be relocated.

C. Direct data forwarding via the X2 interface may be used.

D. Indirect data forwarding via the SGW may be used.

E. None of the above statements are false.

Correct Answer: E
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QUESTION 4

Assume that dynamic PCC rules are used on the PGW. When an AF server initiates the establishment of a dedicated
bearer for a UE, which of the following messages are exchanged between the PCRF and the PCEF?

A. The RAR/RAA messages

B. The CSR/CSResp messages

C. The CCR/CCA messages.

D. The CSR/CSResp and the CCR/CCA messages
E. The CSR/CSResp and the RAR/RAA messages.

Correct Answer: A

QUESTION 5

Which of the following statements is FALSE regarding Key Performance Indicator/Key Capacity Indicator (KPI/KCI)?
A. KPI /KCI counters are supported on both Alcatel-Lucent 7750 SGW and 7750 PGW.

B. The cf:\mob-gw-stats directory contains the current records.

C. The cf:\mob-gw directory contains all closed records.

D. KPI/KCI counters are used to debug real-time issues on the mobile gateway.

E. An XML file is created and stored in the CPM\\'s flash card.

F. None of the above statements are false.

Correct Answer: D
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